
�������
�	��

��� ��� �����	���

88-151 ��� ����� ���!�"�#
%$&�'��
%���(��

���)�%
%�*�+� ���,���%�!�-�+� ./�10	���

� 23������0,
54�6�$&�#� � 67� 8
� �9��:;�<
%$&�!�<�(��8=0>�	�(��$@?A:B�C
D� ��
 � ?E�B�����F � ����
 � ?G$��"�H��?A.I
 � ?A:J�<� � ��KMLN�H��?A.I
 � ?A:;?A0>�H��K=0,?O
%� F 6�����P � ?A
RQTSVU%LW� . � ?G$&�F � ����
 � ?G$&���H��?A.I
 � ?A:;�<� � ��KMLN�H��?A.I
 � �YX%?A0Z�H��K=0,?[
�� F 6�����P � ?A
RQTSVU%LW� � � ?G$&�

� . � ?G$

� ��P � K\��� � ?A
]�,�	� � �_^
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4�`G: � .I�	K

–20

20

40

60

80

–3 –2 –1 1 2 3

x

� �����C��������� 20 a ?b.IP1���c���)� � `,��.d���#� �
2 < x < 3

0,� � ��.e� � 
 � ��P � K\��� � ?A
]��������� �f�g� �#� � K � �h. F .�L
� ��P � K\��� � ��
D�B��
i��K=
j2 � r2 a � r1

��
D.I:J�
r1 < x < r2

0G� � � x ak� �B��PB?l�,�	� � 6����E$<��
 � �h. F �(L
� 2f.e� � � 1 a � −1 a ?O23���<��� �H�

� ��P � K\��� � ?A

��?A�(��K\��� � `G��0 � ?A

�G���H.e��P�� ?b�)�1:
Matlab a ��
D�(�h
D�d���)� � `,��.d���#� � ��X

ft(x) =
1 + t sin x + x4

1 + 4x2

`G��0;�
x
?A
 � ��P � K\���O.e� � 
m�

ft(x) a ?[
%�(6�����K t
?A:�?E4 � K\����: � Ln� 1 < t < 4

0G� � �o� t ?A
 � ��P � K\����:F �
t
�	�h� �	� � ?A0Z��?A� ��K\��� � `,�	0 � ?A
]�H��?G� � ��.j����?A�p?[23��P1���;� ��?A�(��K\���



� ��P � K\��� � 

`G:
a
�	�h� �	� � ?A

`G��0 � �h./.e��PB�!?b���1:

Maple a ��
D�(�h
D�d���)� � `,��.d���#� � � �

f(x) =

{

ex sin x x ≤ 2π

3
1

a+x2 x > 2π

3

?A� � � a
��
D.I: F

0 < x < 6
�B���#0nL � ��P � K\��� � ?A
 �,�	� ?A� � ?J2f�p��� x = 2π

3

��
D.I: � ����PB�@.e� �� � 8f`G��0
4
Matlab a �@����.I� � �H���#� � � � � �

A = rand(50, 50);
x = [−1 : 2/49 : 1];
y = eig(A + A′ − 1);
z = sqrt(50) ∗ (0.62 ∗ x + 0.15 ∗ x.̂ 3);
plot(x, y,′ .′, x, z,′ −′)
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